BT

& B K E = B # B EyTe B &
o o
GlIESS B
&2 % H H
% #& A A
= =
A A %
SR E 2l # & 2| 19DETNO3—0CO

T % | BOF HBHEEREILTH HN

S SR (I 1| B 4 HiE HEHE1L-H

&

T EE 4| EHEE 1 SRE K

9o
3
=
4




& i ok E

EEE T —3

WERE 1. %
G T X
HokmEm T =
@n T R
B st i T K
X Ei T —%
HEmMET R
R T —%

Jii TIER  L=27.5m

"R & W

=
glﬂll

T L A i %
& B E MY M

4,767,400 H

4, 334,000 [
433, 400 H

19DETNO3 —0C0




ARTHEENRE

BH - TFE - fER - AR - BT ¥ = 1 4 %A e {itd
JH K BT "
g 1 2,154, 672 | B EAT
TE R+ T "
g 1 220, 835 | LIEAT
PEH| T &
* 1 16, 512 | FERIAT
- ‘
T NERAE R (REYE) m3 "
e+ T "
g 1 112, 926 | AT
RIE D
+w N m3
21
HEREL
IINRAE 1 m3
24
A+ &t
” 1 3, o1 | FEBIAT
AR (B
m3
2
R
ANFRAEE ATy rin LIFEO. 28m3 (ZAH0. 2m3) 4P CEHl- £A m3
BV +5ETe) DIDAEY 1.5kmEd T B4F 2
AL T N
” 1 87, 776 | EBIAT

19DETNO3 —0CO

eaitl



ARTHEENRE

2B o TFE - FERI - AR - B BT ¥ & i & %A e firg
T
JNBRAEE AT 97k A0, 28m3 GO, 2m3) £/ CaBlL - B m3
BV &%) DIDAEY 5. 5kmEd  B4F 13
Wy (BEAERT)
m3
13
JiERsE T ©
” 1 446, 741 | TAEAT
BT 6 WeRE T \
8 1 446, 741 | TERITT
) 2 -
Im% 8 2 2mA 18-8-40 (FRifF) M- A ¥ LColE m3
—iREE EEEL 10
Vgl BERE B
(E150
1
&R T "
g 1 338, 166 | LAE1T
727TW#%%}% \
5@7 A7 7))V k uﬁzsz Et; 1 166, 920 %i%lj??
T4 VI-E
BER  t=50mm m2
61
b R GRaE D) B
100mm 1/8HE L AR TR A RM-30 m2 oL
BT 277 v a2k
1. 4mPA b 30mm BRBIFETAT7VMES ) (13) m2 61

19DETNO3 —0CO

eaitl



ARTHEENRE

A - T R - MBI - AR BT ¥ = B & KA T i =
7%77»)%&1 \
e O AUASHIE A . 84, 110 | FERIT
@ s CRE D) )
250mm 2@ HE L FAREE SRR RM-30 m2 26
FJE (EEr) o
1. 4mPL b 50mm FAEERIETAaY (13) 77 74{ha—}PK-3 m2 26
szTgE%%I \
E_{$ %AS%@Z’K :Et‘ 1 56, 658 %ﬁ%lj??
- A (L E - BT )
AR A A RM-30 150mm 1)E i T m2 2
FE (BE - BE D)
1. AmFyi CEBIE: =0 E50mmPA T) 50mm AR 25 K7 B m2
743/ (13) 7" 74ha—pPK-3 20
TAT 7V b%ﬁ%}:qt ) .
BB T 27 7L N (18 1R) X | 30, 478 | FEAIAT
B B GREER) )
100mm 1/ HitE T FFA= KL PR R A RM-30 m2 ”
=& (HE )
1. 4mPl £ 50mm FFAEERIFET A, (13) MEL m2 y
HENHE S T "
g 1 172, 121 | THEAT
A T "
g 1 115, 416 | AT

19DETNO3 —0CO il



ARTHEENRE

BH - TFE - fER - AR - BT ¥ = 1 4 %A e {itd
UZUANE
m
6.3
T \
A . 11, 200 | TR
EIKPERE s
i I
1
FIRT \
A X 15, 505 | FERIAT
ta-bE BIEA)
PELF 350mm [EELE L AMNEE 1R m L
SAT \
& 1 83,718 | LHEAT
AT )
A 1 83,718 TERIAT
B R
RIE Cﬁ£(150*150*600) BAEI79v97/RC-40 18-8-40 (5 m
fF) EAME 18
B A T «
g 1 320, 446 | LAEAT
5 10 i T \
5 1 320, 446 | TERITT
REWT G - 3% &
m
15

19DETNO3 —0CO

eaitl




ARTHEENRE

2B o TFE - FERI - AR - B BT ¥ & i & %A e {itd
HAPEBS I &
R HRE m
7.8
SR IR
A R m
9.8
DRI BN e
m
9.8
i) BT —RIOD B
HEERE & AT A
HiEH EI7RE B
AXTE & .
#i B )
XE & A X
X EHR T "
X TR T &
* 1 3 g7g | FEBIAT
PERAL T (A , \
W wEh(FE) SFEMEE 4R 16en HOE B m
RIS 1. Smm PEKEE Fefiti 14
SRS -
g 1 191, 367 | AT
Y B L 1T "
g 1 64, 690 fi%ljﬁ—_

19DETNO3 —0CO

eaitl



ARTHEENRE

ZH - TR - FfER - M5B - RS BT ¥ = i & #H L firg
S R G T
TAT 7V MNEREE AR As:15emPL T m
28.5
Sl IR A
TATVMGRSERR FEEME L XRAE 10emPl T FAF Y m2 s
FERERUE LD
m
7.71
PREEUE L@
m
1.70
FERERUE L O
m
0.7
f A Ol
m
6.7
BER 7 vy 7 E
m
19
HENFEE RS T i
g 1 14, 636 FERAT
AEREO
m
8
HEmMED
m
2
AEREQ
" 2

19DETNO3 —0CO

eaitl



ARTHEENRE

6.0kmLd F BiF

ZH - TR - FfER - M5B - RS BT ¥ = i & #H L firg
LK RS s
11 T
1
Bt S T &
o 1 31, 007 *i%ljﬁ—’
DN HES
m
11
SR R AR
" 11
Ay a7 AORE
ik m
1.
A w27z AQRE
fiE m 1
VR IEMHRE T
/)= MEEIA b= v 2m RO TR TR m ;
TELEE T &
g 1 81, 034 %i%ljﬁ_’
l'L '_’Tﬁm
Aﬁ ERRAE A HEIBRE A (B & b IR AN, Sl hRU= 15emid m3
T) DIDA Y 6. 0kmbA Eiz% 5.
TAT 7 NBRAL 53
m3
5.
TRIER
a/)) - HERR - XA MEE & 0 Zh L #AEA DIDA Y| m3

19DETNO3 —0CO

eaitl



ARTHEENRE

2B o TFE - FERI - AR - B BT ¥ & i & %A e {itd
a7 U— hERLsy
m3
7.9
A - AR G E TR B
I-EEE A2t (B B) B EL=3. Omfaf B IEW=1. 6m ]
9. 0kmEL T 0. 1tLATF 1
L &
ps 4=
1 377, 400 | LIEAT
S k=giinn \
8 1 377, 400 | TERIAT
A2 18 i H i BB N
B 75 (SKF 17RF) SEEish (R HE B ) NH 2
BT = ]
=
1 2, 154, 672
(A2 4) .
=
1 119, 057
Heim e R )
=
1 467, 500
e F I AR ]
=
1 145, 500
Hil e \
=
1 53, 500
HEREYES (5t ) "
b
1 92, 000

19DETNO3 —0CO

eaitl



ARTHEENRE

H - TFE - FER - MBI - Bk BT B i & e fifi
R (K5 ) \
£
322, 000
MiTEE ‘
£
2,622,172
BUIGE PR
&
921, 000
=LA \
£
3,543, 172
— R B ‘
v
791, 549
EatEaesieTd ]
=
-721
T =Hfil \
v
4, 334, 000
MEE= Pk B ‘
=
433, 400
AR EimA] ]
=
4, 767, 400

19DETNO3 —0CO

eaitl



